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In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

frafaiea vy & Ry or Rreedl & @ uy g
(?) % TUE W A TRl TEA H T

2 5

7

2

10 |15 (12| ?
Options:
1)16
2)18
3)12
4)14

Correct Answer: 14
Candidate Answer: 14

QID : 202 -
How many quadrilaterals are there in the given figure?

& 7S g A feae Tgi ©2

Options:
1)8

2)9
3)10

4)5
Correct Answer: 10
Candidate Answer: 10
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QID : 203 -

A word is represented by only one set of numbers as given in any ane of
the alternatives. The sets of numbers given in the allernatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-! are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘L’ can
be represented by 10, 85, etc., and ‘D’ can be represented by 31, 69, etc.
Similarly, you have to identify the set for the word “BARK”.

TS eg &del Th HEA-GHF g SAam J@r §, S 6 fawedt ot @
el v & T = ¥ fwedl & BT T Jwanmen R & o aer
T gRiT A ¥, S fr fw oaw o sigml & ¥ ARgEl & v 3N
Ufer 1 TEAT 0 & 4 ¥ 3 IMgg Y 5 T 91 39 AR § TR HEN
P ouee sE U A ag # worn g g cfar o g
3ETeRoT & fAw L 10, 85, g g grifam & wewan ¥ a@ur D @i 31,
69, 3ify g gufur sn wwar ¥ s v @ s uar A Rr g
“BARK” & faw mag =t uggdEar &

Matrix-| Matrix-il
M- Y-l
o(1[2[3]4 5161789
o|lZ|M|{V|B|C S|IRIN|P|Z|T|
1/L{T|B|P|F 6|G|A[F|B|D
ZIKIN|O[M|U 7101 |A[K]|S
|IW|D|F |G|V S|L|O(H|R|P
4|Cl|L|K|V|B 9wl SsS|Ull]Jd

Options:
1) 12, 66, 56, 79

2) 03,77, 88, 42
3) 03,77, 55,22

4) 44, 66, 88, 22
Correct Answer: 03,77, 88, 42
Candidate Answer: 03, 77, 88, 42

QID : 204 -

From the given answer figures, select the one in
which the guestion figure is hidden/embedded.

& I Ta Al H W 3@ 3 3pla o gaw
B # vy sl AR &




Options:
1)

omy [l SE

|_d)l_l

-

Correct Answer:

oxy

Candidate Answer:

oxy

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

i HI IaY HGiad U4 APl & UideT @ g
HLIN?
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Options:

1)

| |
|
2)
| B
3)
|
|
4)
Correct Answer:
|
|
Candidate Answer:
|
||
QID : 206 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy me gUUT @ AB TaT WY T@m ST, ar & i
TaT AMEAAl # W RiF W ARG U4 g
TS Uiatasa gref?
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Candidate Answer:
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QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?
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Candidate Answer:

&

QID : 208 - If 'x' means '+, '=' means X', '+ means '=' and '+' means '+, then

16+4+9-3=7

Tfe 'x' a1 31+, '~ et &k 'x, ¥ oY 1 = T '+ o e gl

16+4+9-3=?
Options:

1)-17

2) -7

3)17

4)-9

Correct Answer: — 7
Candidate Answer: — 7

QID:209-f4@3@9=16and2@4@6=12,then4@1@3=?

IR 4@3@9=16U2@4@6=12E,A4@1@3=?
Options:

1) 11

2)6

3)8

49

Correct Answer: 8

Candidate Answer: 8




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Quel
2. Quasi
3. Quail
4. Quack
5. Quash

Freafafed el ot gl & o aret e & Srgar ford |

1. Quel
2. Quasi
3. Quail
4. Quack
5. Quash

Options:
1) 45312
2) 54312
3) 43521
4) 42315

Correct Answer: 43521
Candidate Answer: 43521

QID : 211 - In the following question,select the missing number from the given alternatives.

7,9,13,19,?

Frafafea e d Ry e Resed! 3§ & @ sie 71a HifSigl

7,9,13,19,?

Options:

1) 21

2) 23

3)27

4) 29

Correct Answer: 27
Candidate Answer: 27

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
1J, MN, QR, ?

e SigeRd T ma &, fOad § e ue w81 g g faenedt § & a8 aet faered 9y, it orgehd @l g R

1J, MN, QR, ?

Options:

1) UV

2) VU

3)TU

4VT
Correct Answer: UV
Candidate Answer: UV

QID : 213 - In the following question, select the odd word from the given alternatives.

Fraffed e 3 g g fRencal d & fawe &g &t gkl
Options:

1) Red

<lel

2) Blue

e

3) Violet

S

4) White

Tihg

Correct Answer: White

Candidate Answer: White
Tthe




QID : 214 - In the following question, select the odd number from the given alternatives.

Frafafed vy § Rg g et & & s den & gl

Options:
1) 121

2) 169
3) 225

4)125
Correct Answer: 125
Candidate Answer: 125

QID : 215 - In the following question, select the odd letters from the given alternatives.

Frafafad e 3 g 71q feneal 7 & fawe s1ert &t gFg)
Options:
1) EGI

2) MOQ
3) PRU

4) UWY
Correct Answer: PRU
Candidate Answer: PRU

QID : 216 - Identify the diagram that best represents the relationship among the given classes.

Female, Labour, Manager

g IR gg it T Ry 7g ot & e & e o w8l g wRar gl

Options:
1)

2)

D
O

QD

%)
@

Correct Answer:

QD




Candidate Answer:

QD

QID : 217 - In the following question, select the related word from the given alternatives.

West : North-East : : South : ?

FrfafEa e 8 g 7 et & @ Haifda sreg &t gfg
uffiw : IwR-yd : : &ffor: ?

Options:
1) South-East
gfayor

2) North-West
Ia-ufgH
3) North-East
IR

4) South-West
gfaror-afas

Correct Answer: North-West
I

Candidate Answer: North-West
JTR-
QID : 218 - In the following question, select the related number from the given alternatives.

36:25::100:7

frafafed e # Ry 1y et 7 @ Haifda Tem ot gfgl
36:25::100:?

Options:

1) 64

2) 169

3)121

4) 81
Correct Answer: 81
Candidate Answer: 81

QID : 219 - In the following question, select the related letters from the given alternatives.

BAND : DCPF :: FUSY : ?

Fafafed e & Ry g feeedt | § Haifda st @ gl
BAND : DCPF : : FUSY : ?

Options:

1) GVTZ

2) HWTZ

3) GVUA

4) HWUA
Correct Answer: HWUA
Candidate Answer: HWUA

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.

COMPLIMENTARY

Frafefed fered 7 § a8 <1 Y St &G TG 21ea & 18R 1 TANT heh g1 a1 Sff ehdT|

COMPLIMENTARY
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Options:
1) TRIM

2) TRAPS
3) PRIME

4) TRAIN
Correct Answer: TRAPS
Candidate Answer: TRAPS

QID : 221 - The ratio of the present ages of A and B is 5 : 8. If after 8 years the ratio of ages of A and B will be 2 : 3, then what is the present age (in years) of A?

A QT B &Y acHT S T S1uTd 5 : 8 81 afS 8 anT usyia A T B Y IR T S1guTa 2 : 3 8 SY, at A Y adEr o1y (awf §) @ @2

Options:
1) 64

2) 40
3)48

4)72
Correct Answer: 40
Candidate Answer: 40

QID : 222 - A is father of B, but B is not his son. D is wife of A. C is son of D. How is D related to B?

A, B @1 a1 § ug B 39T 47 861 81 D, A u=t §1 C, D &1 A 1 D, B & oy enR Heifdra &2

Options:
1) Daughter

2) Brother
R

3) Mother

ATl

4) Cannot be determined
FIcEGCT I IRSE T

Correct Answer: Mother
HTdT

Candidate Answer: Mother
HIT

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All books are thick.
1. Some thick are white.

Conclusions:
1. Some books are white.
Il. Some books are not white.

i g U U8 B e R SfR S 9GS R IR SeTRa e sy g g &, greifes S W I del & foman g gendt 81 geft fsend v ofik filk FufRa R fR Ry g @l
@ e, g g St & onmeR R gReaT g

hY:
. a2ft geadh 1 €1
1. T HiE The &l

fAreene:

. B qh Ihe &1

1. B TZh 9ha ol 5

Options:

1) Only conclusion (1) follows.

haet fem (1) T8t 31

2) Only conclusion (Il) follows.

e Ry (1) Tl 81

3) Both conclusion follow.
el

4) Neither conclusion (1) nor conclusion (I1) follows.

7t frsed (1) =1 & Freet (1) @& 21

Correct Answer: Neither conclusion (I) nor conclusion (I1) follows.

A at st (1) =1 & Freed (1) @& 21
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Candidate Answer: Both conclusion follow.

3 & feenef @it &1
QID : 224 - In a certain code language, "COMB" is written as "DQPF". How is "GOAT" written in that code language?

o fAfrE @t 9T §, "COMB" @t "DQPF" fora STTaT & 39 whis 7T | "GOAT" ot fohe wep forar sraem?

Options:
1) HQDX

2) HQCX
3) HQDY

4) HRDX
Correct Answer: HQDX
Candidate Answer: HQDX

QID : 225 - In a certain code language, "HIM" is written as "60" and "HER" is written as "62". How is "HIS" written in that code language?

T fAfre ste e 3, "HIM" @t "60" T "HER" @t "62" forar ST &1 39 el e & "HIS" &t foh wepiR forar simaam?

Options:
1)70

2) 74
3)72

4)73
Correct Answer: 72
Candidate Answer: 72

QID : 226 -
What is the value of /247 + /817

247 + /81 &1 AT T &7
Options:
1)14
2)16
3)18

4)15
Correct Answer: 16
Candidate Answer: 16

QID : 227 - How many positive factors of 288 are there?

288 & fohem yFTeHe UHES 82
Options:

1)18

2)15

3)10

4)16
Correct Answer: 18
Candidate Answer: 16

QID : 228 - What is the HCF of 23 x 72 and 25 x 312

23 x 72 a1 2° x 3 g GHYEd e I &2
Options:

1) 2331

2)237231

3)23

4)3172

Correct Answer: 23




QID : 229 - What is the value of 122 - 112+ 142 - 132 + 162 - 152 + 182 - 172 + 202 - 192?

122-112+142-132+162 - 152+ 182 - 172+ 202 - 192 T A AT &?

Options:
1)135
2)198
3)172
4)155

Correct Answer: 155
Candidate Answer: 155
QID : 230 - What will be the remainder when sum (433 + 434 + 435 + 436 + 437) is divided by 67

9 (433 + 434 + 435 + 436 + 437) & AT okt 6 T AT e S, At Aokt arm ghm?

Options:
15

2)4

3)3

4)2

Correct Answer: 3
Candidate Answer: 3

QID : 231 - What is the least number multiplied to 100, so that the number becomes a multiple of 15?

100 & U I ¥t Gard SIET WA 70N ¥ S, Afch AT 15 <Al o7l g Smg?

Options:
1)5

2)2

3)4

4)3

Correct Answer: 3
Candidate Answer: 3

QID : 232 - Working 15 hours a day, Goldy can complete a piece of work in 24 days. How many hours a day he should work so as to finish the work in 18 days?

"R 15 w5 Rl oedh, Mo foreht el aht 24 i 7 g1 e Tehart &1 ohrd ot 18 Rl & o st & forg 39 vl ket ©é o et gvm?

Options:
1) 20

2)16

3)18

4)8

Correct Answer: 20
Candidate Answer: 20

QID : 233 - S can do a piece of work in 80 days and T in 60 days. With help of U, they finish the work in 20 days. In how many days U alone can do the same work?

S foneft orf it 80 T A R Tepa & T T, 60 2 & U i Igmaar @ 3 ord ot 20 R & g e Ad &1 U 31chelt 39 & ol favae & & swm?

Options:
1) 40

2) 60

3) 48

4) 80

Correct Answer: 48
Candidate Answer: 48

QID : 234 - The length and breadth of a rectangular field are in the ratio of 5 : 2. If the perimeter of the field is 140 metres, then what is the breadth (in metres)?

Fordlt STTIATeRR €151 <hl TFaITs T TSTS ol SIgUTd 5 : 2 81 31 SIIdTehR &5 a1 URATT 140 Hiex g1, af Sudh! TieTs (Hiex #) a1 ghil?
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Options:
1) 20

2)25
3)30

4) 35
Correct Answer: 20
Candidate Answer: 20

QID : 235 - The marked price of an article is twice the cost price. For a gain of 40%, what should be the discount percentage?

ek g ot Sifchd Ged 39! aRTd ged & ST &1 40% a1 U e o foig, @e ufdsra @ gifi?
Options:

1)20

2) 30

3)45

4) 50
Correct Answer: 30
Candidate Answer: 30

QID : 236 - What is the net discount (in percentage) for successive discounts of 20% and 30%?

20% a1 30% & & AN ge fohd fad (Ae) ge (ufdera #) & ReR 82

Options:

1) 44

2) 56

3) 50

4) 54

Correct Answer: 44
Candidate Answer: 44

QID : 237 - If 4/3 of P = 2/3 of Q, then what is P : Q?

g P& 4/3 = QA 2/3 Y, P : Q FaT gm?
Options:

101:2

2)2:3

3)1:3

4)3:2
Correct Answer: 1:2
Candidate Answer: 1:2

QID : 238 - If (5/4)P = (2/3)Q = (3/4)R, then what is P : Q : R?

af% (5/4)P = (2/3)Q = (3/4)R &, @ P: Q : ReRm ghm?
Options:

1)24:45:40

2)24:18:45

3)24:40:45

4)12:45:40

Correct Answer: 24 :45: 40

Candidate Answer: 24 : 45: 40

QID : 239 - The average of 15 numbers is 20 and the average of first five numbers is 18. What is the average of the remaining numbers?

15 Teareti o1 ofid 20 &1 9T UUW Ule Seredi o offad 18 &1 1w Ieamsf ot sivra o 82

Options:
1) 21

2) 25
3)28

4) 30
Correct Answer: 21
Candidate Answer: 21




QID : 240 - A man gains 40% by selling an article for a certain price. If he sells it at double the price, then what will be the profit percentage?

e a%g i forelt AfRa 1o wR Sram Gk eafeh 40% @1 shATe 81 O a8 9 a¥g & GRTHT Shiwd TR &f, ot A1 <1 ufaer &R g
Options:

1) 140

2) 280

3) 260

4) 180
Correct Answer: 180
Candidate Answer: 180

QID : 241 - By selling an article at 7% profit instead of 11% loss, a man gains Rs 720 more. What is the cost price (in Rs) of that article?

ek a5 &l 11% 1 o Fact 7% A1 IR 94 8 Yeh Atk &l 720 & S1fdeh U g1 8| a¥g ol 3 e (T H) T 8?

Options:
1) 3200
2) 4000
3) 4800
4) 7200

Correct Answer: 4000
Candidate Answer: 4000

QID : 242 - In a school 65% of the students are girls. If number of boys is 420, then what is the total number of students in the school?

T frerera & 65% foemeff arefnat &1 afe e ol w420 8, af femera § oot fona foremeff 82
Options:
1) 1050
2) 1320
3) 1200

4) 1500
Correct Answer: 1200
Candidate Answer: 1200

QID : 243 - If the price of a commodity is decreased by 10% and its consumption is increased by 20%, then what will be the increase or decrease in the expenditure of
the commodity?

ek a&g i hiFd 10% o 81 STt & T ekl @Ud 20% 56 STt &, df a¥g TR & 3 fohd=t Hfdera i et ar gig ghfi?

Options:

1) 8% decrease
8% hl At

2) 8% increase
8% I g

3) 10% increase
10% <l

4) 10% decrease
10% I T
Correct Answer: 8% increase
8% I g

Candidate Answer: 8% increase

8% 1 9%

QID : 244 - Speeds of a boat along the current and against the current are 14 km/hr and 7 km/hr respectively. What is the speed (in km/hr) of the current?

e A1 T 7T HRT & STcel aT oRT & Wit fasm # shAst: 14 for.Hl./der aer 7 [t /der 81 ey iy wifd (RR.+H1./<ier &) arm 87

Options:
1)3.5

2)1.5
3)2.5

4)3
Correct Answer: 3.5
Candidate Answer: 3.5

QID : 245 - A man can cover a certain distance in 6 hours if he walks at the rate of 8 km/hr. If he covers the same distance on cycle at the rate of 12 km/hr, then what

is the time (in hours) taken by him?

ek s afg 8 fob. /e Y wfa & =<t of a8 gon FAfRa gl 6 69 & qu o dar &1 afe ag a8t ot arsfoher wr 12 6.5 /der i 1far @ a7 o ot I fohaan T (gt 1) ahm?
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Options:

Correct Answer: 4
Candidate Answer: 4

QID : 246 - A certain principal is invested in a scheme of compound interest. The amount obtained after 2 year is Rs 1210 and the amount obtained after 3 years is Rs
1331. What is the rate of interest (in percentage)?

ok YT Gerem gl sarer Y Gk dter & faer fomam mam 2 o gy arg S arer s 1210 T § a1 3 9 ggiTd uTg S aren e 1331 T 81 e & (Ffasr 8) R a?

Options:
15

2)10
3)15

4) 20
Correct Answer: 10
Candidate Answer: 10

QID: 247 -
The bar chart given below shows the number of staff in
colleges A and B from years 2011 to 2016.

Fr BT o gvzs R A av 2011 ¥ 2016 IF &
AEaTeal A g B H Fa=niar AT HEAM A QAT

TAT T
OCollege A/ Agifaamer A OCollege B / Agiaraa B
500 - -
& E 5
« . o
% ® 400 1 I g D
Yo & GC") 7
2.43 o 8_ o |
2 <00 Eg g(o N Co
£ NN o [ N2
S £ 200 9 q
=
100 |_H
0 T T T T T 1
: (9] [xp] <t 1 [{v]
o o = o o o
o (] (] [ [ (8]
Year/a¥

The number of staff in college A in year 2015 is how much percent more than the number of staff in college B in year 2015?

ay 2015 3, Agifaened A § sfaifat 6 W af 2015 §, ggifdene B & adnial $i dwen @ foham ufasma sifdes 82
Options:

1)5

2)8

3)10

4)15

Correct Answer: 5

Candidate Answer: 5

| e R e A e ) ]



QID: 248 -

The bar chart given below shows the number of staff in
colleges A and B from years 2011 to 20186.

F=r ffm oomr Ius R A a¥ 2011 @ 2016 I &
Herfaaredi A I1 B # wanfEt f G=ar & gl

T g
OCollege A/ AgiTeare A OCollege B / Ageare™ B
500 - o
t -
gE 400 2 9 3
= &5 e ) o
e o 2 ]
85 38 Be & | oo
£ NN 9 S
3 & 200 -
100 -
0 T T T T 1
: (o] [xp] -t 10 [{n]
o o o o o =
[ (o] (o] o™ (] (|
Year /a¥

The number of staff in college B is same in which two years?

for1 &) auf & geifaemera B & st 6 T gam g2

Options:

1) 2013 and 2014
2013 dur2014

2) 2014 and 2015
2014 qur12015

3) 2012 and 2015
2012 qu12015

4) 2011 and 2012
2011 qur2012

Correct Answer: 2013 and 2014

2013 qur2014

Candidate Answer: 2013 and 2014

2013 qu12014

| TR i T~ = i S e e i



QID : 249 -
The bar chart given below shows the number of staff in
colleges A and B from years 2011 to 20186.

F=r ffm oomr Ius R A a¥ 2011 @ 2016 I &
Herfaaredi A I1 B # wanfEt f G=ar & gl

I gl

OCollege A/ AgiTeare A OCollege B / Ageare™ B
500 - -
u:E 5
S8 400 2 9 B
= &5 e ) o
. o 2] &
g 00 13= B, 8| | o
£ NN o =
3 & 200 -
100 -
0 T T T T T 1
: (o] [xp] -t 10 [{n]
o = = o b= =
[ (o] (o] o™ (] (|
Year /9§

What is the average number of staff in college B in the given six years?

fw 1q B avt & werfdency B # wHanfal fi oftea e s e?

Options:
1) 286

2) 280
3) 308

4) 270
Correct Answer: 286
Candidate Answer: 286

| MR i T~ S o e e ) ‘.K.T.‘_T‘_’:M /



QID : 250 -
The bar chart given below shows the number of staff in
colleges A and B from years 2011 to 20186.

F=r ffm oomr Ius R A a¥ 2011 @ 2016 I &
Herfaaredi A I1 B # wanfEt f G=ar & gl

T g
OCollege A/ AgiTeare A OCollege B / Ageare™ B
500 - o
t -
gE 400 2 9 3
= &5 e ) o
e o 2 ]
85 38 Be & | oo
£ NN 9 S
3 & 200 -
100 -
0 T T T T T 1
: (o] [xp] -t 10 [{n]
o o o o o =
[ (o] (o] o™ (] (|
Year /a¥

For how many years the number of staff in college B is more than the number of staff in college A?

fora aut & forg weifdener B § eeaiial Y e Agiaener A | searial fi wwer @ sifden 87

Options:
12

2)3
3)1

4)4
Correct Answer: 3
Candidate Answer: 3

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Dharampal will be remain in jail (1)/because of the other cases (2)/pending against him. (3)/ No Error (4)

Options:
11

2)2
3)3

44
Correct Answer: 1
Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

When he was arrested by the police (1)/ in November 2014, his followers go on (2)/ the rampage for two weeks. (3)/ No Error (4)

| e R e A e ) ]



Options:

Correct Answer: 2
Candidate Answer: 2

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

She lost hope she had.
Options:

1) the little

2) much

3) few

4) a very

Correct Answer: the little
Candidate Answer: the little

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

I had hardly finished my work the phone rang.

Options:
1) then

2) where
3) than

4) when
Correct Answer: when
Candidate Answer: when

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Quiver

Options:
1) Soothe

2) still
3) Shake

4) Calm
Correct Answer: Shake
Candidate Answer: Soothe

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Muddle

Options:
1) Order

2) Difficulty
3) Enlightenment

4) Organization
Correct Answer: Difficulty
Candidate Answer: Enlightenment

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Plod

Options:
1) Breeze

2) Walk lightly

3) Tiptoe

AN Memn



Correct Answer: Drag
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Evoke

Options:
1) Stop

2) Call
3) Extract

4) Raise
Correct Answer: Stop
Candidate Answer: Stop

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in'meaning of the given word.

Offset

Options:
1) Charge

2) Balance
3) Disproportion

4) Equal
Correct Answer: Disproportion
Candidate Answer: Disproportion

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Deplete

Options:
1) Empty

2) Lessen
3) Expand

4) Waste
Correct Answer: Expand
Candidate Answer: Expand

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Apple of one’s eye

Options:
1) Covered up for

2) Punished severely
3) Very dear to someone

4) Enemy of someone
Correct Answer: Very dear to someone
Candidate Answer: Very dear to someone

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To work like a dog

Options:
1) To work very slowly

2) Very moody
3) To work very hard

4) To work untimely
Correct Answer: To work very hard
Candidate Answer: To work very ha




QID : 263 - Improve the bracketed part of the sentence.

We all believe that a slight elevation (in your) body temperature means we are getting sick.

Options:

1) to ours

2) at your

3)inour

4) No improvement
Correct Answer: in our

Candidate Answer: in our

QID : 264 - Improve the bracketed part of the sentence.

It is lowest in the morning and (little lesser) during late afternoon.

Options:
1) little lower

2) many lesser
3) most lowest

4) No improvement
Correct Answer: little lower
Candidate Answer: little lower

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A list and explanation of difficult words.

Options:
1) Glossary

2) Itinerary
3) Stationary

4) Summary
Correct Answer: Glossary
Candidate Answer: Glossary

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A notice of death of a person.

Options:
1) Contributory

2) Mandatory
3) Obituary

4) Explanatory
Correct Answer: Obituary
Candidate Answer: Obituary

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Potatoes

2) Patatoes
3) Patotoes

4) Potatos
Correct Answer: Potatoes
Candidate Answer: Potatoes

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Profesor
2) Profesore
3) Professor
4) Professer

Tl e e e e W ]




Candidate Answer: Professor

QID : 269 - Rearrange the parts of the sentence in correct order.

Methane is another

P: greenhouse gas release in the

Q: atmosphere by the anaerobic

R: decomposition of organic materials

Options:
1) PQR

2) RPQ
3) PRQ
4) QPR

Correct Answer: PQR
Candidate Answer: PQR

QID : 270 - Rearrange the parts of the sentence in correct order.

Education is an essential

P: get success in life and

Q: earn respect and recognition
R: tool for everyone to

Options:
1) PRQ
2) RPQ
3) QPR

4) QRP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

It is really tragic that in the world of today, the evil of dowry continues to exist in all its horrid forms. Many homes are broken and several families are driven to
ruin only because they are too poor to arich dowry. Previously, in the selection of a bride, her family background, education and her worth used to be the
primary consideration. Now, dowry is the and the only consideration in a majority of the matrimonial alliances. As a result, dowry, which was at one time a
token of love and affection, has become a of oppression and exploitation of the worst order.

really tragic that in the world

Options:
1) progressive

2) regressive
3) conclusive

4) inductive
Correct Answer: progressive
Candidate Answer: progressive

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

It is really tragic that in the world of today, the evil of dowry continues to exist in all its horrid forms. Many homes are broken and several families are driven to
ruin only because they are too poor to arich dowry. Previously, in the selection of a bride, her family background, education and her worth used to be the
primary consideration. Now, dowry is the and the only consideration in a majority of the matrimonial alliances. As a result, dowry, which was at one time a
token of love and affection, has become a of oppression and exploitation of the worst order.

they are too poor to arich dowry.

Options:
1) concord

2) afford
3) discord

4) oxford
Correct Answer: afford
Candidata Ancwar- affard D T e T = T el o T :-,ﬂ_\i’-’.‘_‘._.y / |




QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

It is really tragic that in the
ruin only because they are too poor to
primary consideration. Now, dowry is the
token of love and affection, has become a

world of today, the evil of dowry continues to exist in all its horrid forms. Many homes are broken and several families are driven to
arich dowry. Previously, in the selection of a bride, her family background, education and her worth used to be the
and the only consideration in a majority of the matrimonial alliances. As a result, dowry, which was at one time a

of oppression and exploitation of the worst order.

her worth used to be the primary

Options:

1) immoral

2) work

3) moralistic

4) analgesic

Correct Answer: moralistic
Candidate Answer: moralistic

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

It is really tragic that in the world of today, the evil of dowry continues to exist in all its horrid forms. Many homes are broken and several families are driven to
ruin only because they are too poor to arich dowry. Previously, in the selection of a bride, her family background, education and her worth used to be the
primary consideration. Now, dowry is the and the only consideration in a majority of the matrimonial alliances. As a result, dowry, which was at one time a
token of love and affection, has become a of oppression and exploitation of the worst order.

dowry is the and the only

Options:
1) first

2) last
3) medium

4) penultimate
Correct Answer: first
Candidate Answer: first

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

It is really tragic that in the world of today, the evil of dowry continues to exist in all its horrid forms. Many homes are broken and several families are driven to
ruin only because they are too poor to arich dowry. Previously, in the selection of a bride, her family background, education and her worth used to be the
primary consideration. Now, dowry is the and the only consideration in a majority of the matrimonial alliances. As a result, dowry, which was at one time a
token of love and affection, has become a of oppression and exploitation of the worst order.

has become a of oppression

Options:
1) cause

2) result
3) effect

4) idea
Correct Answer: cause
Candidate Answer: cause

QID : 276 - What is the full form of FICCI?

Q. IS, Y. Y. 31 op1 Srdfe w0 82

Options:

1) Federation of Indian Chamber of Commerce & Industry

Thea Tt 3feT Jar ifth sriaf us Sewit

2) Federation of International Chamber of Commerce & Industry

TheTT 3ITth $eXAe FeR 3t hIAY YUS TSI

3) Federation of Indonesian Chamber of Commerce & Industry

TheT 31Tt ST e ATt iy YUs ST

4) Federation of Iranian Chamber of Commerce & Industry

The¥TH 31Ttk ST FaR ST e gue et

Correct Answer: Federation of Indian Chamber of Commerce & Industry
e 3Ttk 3fea Jar Sifth shimef us dewit

Candidate Answer: Federation of Indian Chamber of Commerce & Industry

3T 3fam FeR 31Ttk iFRf Yue Seit
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QID : 277 - What is the meaning of National income?

e S T e aref 87

Options:
1) Wages only
et HoTgt

2) Rent only
heret femmar

3) Sum of all factor costs
oY Wt T o St

4) None of these

T A HE TR

Correct Answer: Sum of all factor costs
Toft et amrd w1 S

Candidate Answer: None of these

T A HE TG

QID : 278 - Under which article president declares 'Financial Emergency' in India?

IR 7 gufd e srgee & siafa fa<fia smora’ aiftya sear 82
Options:

1) Article 360

31T 360

2) Article 280

31geaE 280

3) Article 300

argese 300

4) Article 110

3rgede 110

Correct Answer: Article 360
3% 360

Candidate Answer: Article 360
317e% 360

QID : 279 - Other than 'Right to life’ which other right is mentioned in article 21 of Indian Constitution?

Sfe & SRR’ & ST VR Jfde™ & sigeos 21 H SR &iF 17 Sifdier fam gem ?
Options:

1) Right to Education

a1 1 SHfARR

2) Right to Freedom

AT T SAARR

3) Right to Equality

AT AT HfABR

4) Right to Food

AT I SRR

Correct Answer: Right to Food
15T et SRR

Candidate Answer: Right to Equality
AT T

QID : 280 - Arrange the following rulers in the correct order according to the period of their rule.

1. Qutbuddin Aibak

2. Ghiyasuddin Balban
3. Shamsuddin lltutmish
4. Razia

Al et Gl STU AITETeRTe 2ht STafe & SI9R T8 A A eafedd &l

1. HILE Qereh

2. TITE St

3. AAYE Fegarner

4. A

Options:

1)1,4,3,2

2)2,3,4,1

3)4,2,3,1

4)1,3,4,2

Correct Answer: 1,3, 4,2
Candidate Answer: 1, 3,4, 2

QID : 281 - In which year Chauri Chaura incident happened?

=R =R il we R ad 7 g oft?

Tl e e e e W



Options:
1) 1920

2) 1922
3)1928

4) 1929
Correct Answer: 1922
Candidate Answer: 1922

QID : 282 - Amazon river flows through which continent?

Srite Al fora AeTdlu @ gle ordt 82
Options:

1) South America

afayoft sdfer

2) Africa

37Tt

3) North America
S emifen

4) Asia
TR
Correct Answer: South America

gfgroft smfen

Candidate Answer: Africa

QID : 283 - Maitri' and 'Dakshin Gangotri' are the research stations of India in which continent?

Bt e g feror Tl R TeTdiu § uRa & iy Fg §2
Options:
1)uAustraIia

2) Africa

STIRTeRT

3) South America
Zfaroft smfenr

4) Antarctica

SfeTchfeenT

Qorrect Answer: Antarctica

Candidate Answer: [ NOT ANSWERED ]

QID : 284 - Which among the following is not an example of terrestrial habitat?

Fr=fofEa & @ o) 91 U el ITaRT T ITeR01 ol 87

Options:

1) Forest

a9

2) Grasslands

1 & g

3) Deserts
IV

4) Swamps

Gel-&ct

Correct Answer: Swamps
Get-qel

Candidate Answer: Swamps
GoT-qel

QID : 285 - A specific function of light energy in the process of photosynthesis is to

TIGRIRT AT <hl UThAT & UehTRT Soll ol U AW sl ___ Bl
Options:
1) activate chlorophyll
FARIthet Excis
Zlformation of oxygen
o
3) absorb water
el Y
4) reduce COy
e STEIHTFITZS ! hH BT
Correct Answer: activate chlorophyll
FARIthet HEAT




Candidate Answer: activate chlorophyll
! wfeha s

QID : 286 - In a human's heart the bicuspid valve is situated between

Aahged A fgaeiaue _ Afagardl
Options:
1) Right ventricle and pulmonary aorta
' GOl AT & He
2) Left auricle and left ventricle
a1 a1fel Gkt

3) Right auricle and right ventricle
3R & Hex

4) Postcaval and auricle
Sreret & e

Correct Answer: Left auricle and left ventricle

T sifel ofk e fea & we
Candidate Answer: [ NOT ANSWERED ]

QID : 287 - What is the process of transferring of charge from a charged object to the earth called?

Toreft Smafra awg & SrraeT Y gedt & or Y ufekan T wEd €2

Options:

1) Discharging
SR

2) Earthing

3) Interaction

4) Lightning

argd

Correct Answer: Earthing

Candidate Answer: Earthing

QID : 288 - If the reflecting surface of a spherical mirror is curved inwards , it is called ____ mirror.

i, el et edor & Wiedes U8 siaaa g, dt 38 &dur shgd &1

Options:

1) Convex
3T

2) Concave
Hddel

3) Plane
qHdA

4) Planoconvex

Correct Answer: Concave
STddel

Candidate Answer: Concave
SIddel

QID : 289 - Integrated Circuits' are made up of which of the following?

Yhiga afde e d d fraa s gia 82
Options:

1) Aluminum

2) Silicon

faferr

3) Glass

CaE)
4) Iron

Correct Answer: Silicon
et

Candidate Answer: Silicon
faferepia

QID:290-______ s alustrous non-metal.

e THHIR U1 81




Options:
1) Sodium
qifeaw

2) lodine
SR
3) Sulphur

Heth?
4) Phosphorus
ThIThRT

Correct Answer: lodine

Candidate Answer: lodine

QID : 291 - Soda water has a pH value

et orh @1 fge. A\ 2l

Options:
1)>7

2) <7
3)7

4) >14
Correct Answer: <7
Candidate Answer: <7

QID : 292 - What are the substances that are broken down by biological process called?

e werA ZRT SEfed g S are ueref a4t e 87

Options:
1) Non-biodegradable
Sote-frfienzolia

2) Biodegradable
g

3) Fossil
Stianed
4) Inert
s

Correct Answer: Biodegradable

Candidate Answer: Biodegradable

QID : 293 - Which among the following schemes has the objective to promote apprenticeship training and increase the engagement of apprentices to 50 lakh by
2020?

Frafafed el § § forg te o1 I8 Regar nfvaror it sgrar 21 Jur 2020 e ufdggsd H wgnfiar @t agrer 50 T w1 82

Options:

1) Pradhan Mantri Kaushal Vikas Yojana

T el foenrT gt

2) National Apprenticeship Promotion Scheme

T freqa Hae g

3) National Skill Development Mission

e T faers e

4) Pradhan Mantri Yuva Yojana

T gaT AeET

Correct Answer: National Apprenticeship Promotion Scheme

g R G dromT

Candidate Answer: Pradhan Mantri Kaushal Vikas Yojana
T e faehr st

QID : 294 - Who discovered nucleus of a cell?

ek ehifRIehT & 1f9es i @it fopem r?
Options:

1) Robert Hooke
e R

g) Robert Brown
AGE ST

3) Louis Pasteur
S U

4) Felix Wankel
Thicred deret




Correct Answer: Robert Brown
3feré e
Candidate Answer: Robert Hooke

eé gh

QID : 295 - Which team won the FIFA Confederations Cup 20177

e & 7 thithT eh=thaRa T 2017 Sfiar &2
Options:

1) Brazil

EIic]

2) France
Wi

3) ltaly
geft

4) Germany
S

Correct Answer: Germany

Candidate Answer: Germany

QID : 296 - In which of the following, art painting is done by pen?

Frfaf@a & & @ it & 3, e § Rt & S §?

Options:
1) Rangoli
Sttt

2) Kalamkari
RATRRT

3) Phad

we

4) None of these
T A HE TN

Correct Answer: Kalamkari

Candidate Answer: Kalamkari
BT

QID : 297 - Which hockey player has been awarded 2017 Rajiv Gandhi Khel Ratna Award?

forr gTeht et et 2017 wrsfia et Wt T qreenr & wwfAa fomam wram 82

Options:

1) Birendra Lakra
fole @Rt

2) Sardara Singh
awr Rig

3) Nikkin Thimmaiah
Frenfer frdamg

4) Manpreet Singh
g &g

Correct Answer: Sardara Singh
TwER &8

Candidate Answer: Sardara Singh
e g

QID : 298 - Who is the author of the book named “The Origin of Species”?

"% SIS STt AT ATe GRah o aideh i 87

Options:
1) Robert Frost
e BT

2) Edgar Snow
TSR St

3) J. F. Kennedy
. T, St

4) Charles Darwin

Correct Answer: Charles Darwin

Candidate Answer: Robert Frost
e e




QID : 299 - Yudh Abhyas' is a joint military training exercise of Indian and armies.

g AT’ Yok TR G Wieror s wRdig ok d-neif T 81
Options:

1) German

T

2) French

e

3)US
Hg?ﬁm

4) Japanese
AT

Correct Answer: US
Y<h TSI
Candidate Answer: French

QID : 300 - Which is a joint venture and campaign for mutual peace and development of diplomatic and cultural relations between India and Pakistan?

I T MR JUT UTIhedT o 7el YRS LMifel FUT ToH1Aes Ga Hivcplaes deiet & fenra & fog e dgeh Sent aur sifeam 8?2

Options:
1) Aman ki Asha
STH <Y STIRIT

2) Samjhauta
LEEICH

3) Maitri

ot

4) Vishwas

s

Correct Answer: Aman ki Asha
STF ST ST

Candidate Answer: Aman ki Asha
ST <Y SR



